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Be main loss would be in Medicine, and is due to two facts 
(1) the larger number who entered the Hr et Year last session and (2) 
the considerable increase in fee ( 5o,00). It should be remembered 
in this connection that these r on were given an advantage over other 

First Year Modi cal students last year in that they were allowed to 
enter on the old five-year course, thus saving a year's expense*

Be above figures are compiled on the assumption that all will 

finish, but it is certain that not a few will have to drop out each 
year, so that the above total represents the maximum#

Be heaviest loss would be at first# AS the men graduate the 

loss each year would be less.
It should be remembered that quite a large number of those 

who are called ex-soldiere did not serve In a fighting aone* Some of 
them indeed did not leave Canada# If, therefore, it is thought that 
the loss would be too groat as it is, then the privilege in question 
might be accorded only to those who had seen service, or It might be 
arranged to allow only those in say the third and fourth Years (fourth 

and fifth in Medicine) to finish up on the old basis. Bis would 

mean a lose of less than 12,000., to be exact .11,950.


